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ATHRATH Tt &1 AN T T 1 T 97 2 A UG CIRUIE)
50 50 100

4001 T TH9TH aq aq 0 1 ELRl2 0]
4002 ZTF AT FY aq aq 0 El EREI2
4003 T T 49 50 99 35.0 Exiki]
4004 TToTeT FHIT AT 49 50 99 33.8 Exiki]
4005 T FHTT 45 48 93 29.6 Exiki]
4006 g a7 48 0 48 9.2 & -l
4007 e FuT AT 48 50 98 30.8 Exiki]
4008 EEIERGIR 43 50 93 30.0 Exiki]
4009 SeTTa AT 45 50 95 325 Rl
4010 vz FTe 43 50 93 38.0 Exiki]
4011 EERREIC 46 50 96 32.1 Exiki]
4012 TR ferETE 47 0 47 8.7 T -l
4013 HIFHAT TSI aq aq 0 1 ELRl2 0]
4014 qI FATT 48 50 98 37.4 ik
4015 TToTeT FHT-11 42 50 92 31.5 Exiki]
4016 T FHT aq aq 0 El EREI2k
4017 HY.QTETTE ST 48 0 48 19.3 T -l
4018 FEAT THTUA aq aq 0 El EREI2k
4019 ST FAVRTT 47 50 97 30.9 Exiki]
4020 AT TrEATHT 45 0 45 5.3 T -l
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4021 ST TR 42 0 42 11.6 7 -l
4022 ot A 34 0 34 14.0 7 -l
4023 T T aq aq 0 El EREI2
4024 TATIT T2 43 0 43 9.9 7 -l
4025 9re orefie 12 0 12 2.1 SRk
4026 o5l AT 34 0 34 9.6 7 -l
4027 3Tl AT 49 50 99 30.9 Rkl
4028 ofverer sroer 0 0 0 0.0 SRl
4029 qufeg eToft 15 0 15 0.0 et
4030 FIATHT A 49 5 54 20.9 7 -l
4031 Zartery farame 45 8 53 21.6 = -l
4032 LIS 47 0 47 13.5 = -l
4033 LT AT 0 0 0 13.9 SRk
4034 HI FHTE ey 49 50 99 52.5 I<fiof
4035 97T AT AT 48 50 08 37.3 I<fiof
4036 qET 7 33 0 33 10.7 = -l
4037 [EIREIC =T 47 36 83 27.1 Rl
4038 g 71T 49 50 99 30.3 ERik]
4039 e FA™ T aq aq 0 El EREI2k
4040 & AT e £l £l 0 q EREIERE]
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4041 TH =T AT aq aq 0 El EREI2
4042 TAT FHL T8 1 1 0 El ERRl2n]
4043 ST STRTST AR 49 50 99 30.8 Exikil
4044 T =T 45 29 74 25.7 Rl
4045 EEpRap 47 6 53 21.2 T -l
4046 LERECIE 49 0 49 14.3 = -l
4047 ATERT 7S 47 46 93 29.2 Rl
4048 ST ASHETY 45 0 45 0.0 T -l
4049 e g 49 50 99 35.3 Exikil
4050 EREEICAEE 49 50 99 36.2 Exikil
4051 TToheT 9T 49 50 99 32.8 Exikil
4052 w9 =47 fiiE 49 50 99 35.8 Exikil
4053 HERCEEI 49 44 93 28.6 Exikil
4054 Tifea fog e 49 50 99 45.4 Exikil
4055 qTaE gaT 49 47 96 29.4 ik
4056 FIETT AT AT T 49 50 99 46.2 Exikil
4057 afee g 213w 49 50 99 42.7 Exikil
4058 TAE THNT 49 50 99 45.8 3hrot
4059 LT FHTE TG 49 50 99 38.6 Exikil
4060 Toww fig 49 50 99 39.7 Exikil
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4061 wHTs g 49 50 99 45.1 3<frot
4062 ST FHTL AqH 49 25 74 25.0 ik
4063 qfea 2157 49 50 99 30.3 Exikil
4064 T T fig 49 50 99 35.0 Exikil
4065 o fig 49 50 99 44.2 ik
4066 TATS AT S TaTE 49 50 99 33.6 Exikil
4067 TETA TN AT 49 36 85 27.2 ik
4068 T 49 50 99 34.9 Exikil
4069 st g 49 50 99 41.1 3fror
4070 T AT 49 50 99 39.7 Exikil
4071 FOU FHTT STFAT 48 50 98 37.5 ik
4072 STHTIT [T 48 50 98 42.3 ik
4073 st FA g 47 40 87 27.9 ik
4074 [EEEIR 49 50 99 33.4 Rl
4075 STTHITS FHTT /TSI 49 25 74 25.0 ik
4076 TIST FHTT qTET9T 49 50 99 33.1 Exikil
4077 97TH AfArshTEr 49 40 89 28.0 Exikil
4078 T FAw fig Agar aq aq 0 El EREI2k
4079 T a a 0 el EREIERn]
4080 o avE aq aq 0 1 ERRI2 0]
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4081 FATIT qIHTT aq aq 0 El EREI2
4082 T+ ARl aq aq 0 El EREI2
4083 qa T aq aq 0 1 ELRl2 0]
4084 T FAT a a 0 el EREIERn]
4085 HATT FATT 1 1 0 El AR
4086 fiveg FATY T T 0 q ELRIK
4087 TSt FAE aq aq 0 El EREI2
4088 st Ta g 1 1 0 El AR
4089 A FAT aq aq 0 1 ELRl2 0]
4090 UH AR 09 35 50 85 39.2 ikl
4091 TR FHIL 48 50 98 52.5 ikl
4092 o= et 48 50 98 41.0 ikl
4093 AT AT AT 45 50 95 41.0 ikl
4094 T AT FATSH aq aq 0 1 ERRI2 0]
4095 AT FHT qTEETT aq aq 0 1 ERRI2 0]
4096 =T T g 47 44 91 28.8 ikl
4097 ERIGEEIRET 17 0 17 2.1 ELuibl
4098 EREIR L) 29 50 79 30.9 ikl
4099 TRITE AT 31 50 81 43.9 ikl
4100 qefter FATT 28 50 78 43.9 ik
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4101 Hw FAR aq aq 0 El EREI2
4102 FforT T 7] aq aq 0 El EREI2
4103 FeAwtor i aq aq 0 El EREI2
4104 FAATAT ZTT 49 50 99 60.5 Enikl
4105 FufEat agT aq aq 0 1 ELRl2 0]
4117 Frad FATL FIT £l £l 0 q EREIERE]
4118 IHI FH ATRT 47 50 97 53.0 Rl
4119 3T A aq aq 0 El EREI2
4120 2T FH AT 48 50 98 34.3 Rl
4121 THT FAT 46 50 96 37.8 Rl
4122 gtar <t FreEe 46 50 96 44.8 Enikl
4123 g g aq aq 0 1 ELRl2 0]
4124 FILT FHTT T T 0 & ELRIK
4125 TTSTET FHTT FAATET 45 50 95 43.8 Rl
4126 FHerer O AT 1 1 0 El AR
4127 T g aq aq 0 1 ERRI2 0]
4128 Hqrfga aq aq 0 1 ERRI2 0]
4129 STHRTL AT 45 50 95 45.1 Enikl
4130 FHRIT AT aq aq 0 1 ERRI2 0]
4131 [EEEREL] 46 50 96 37.9 Enikl
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4132 TV =75 I aq aq 0 1 ELRl2 0]
4133 STHAT HET=T 44 0 44 10.4 7 -l
4134 AT FU STEHaTT 48 50 08 42.4 Enik]
4135 T T T T 0 & ELRIE G
4136 Ty =T Ff 46 5 51 20.9 & -l
4137 i sgoor |7 0 0 0 0.0 S
4138 R FHTE rETe 18 0 18 0.0 SRRk
4139 FreT Sferar aq aq 0 1 ELRl2 0]
4140 A AT 21 0 21 3.1 SRk
4141 fErawTer AT 20 0 20 0.0 AT
4142 FOUT =[5 AT 42 1 43 20.2 7 -l
4143 IR AT 98T 49 50 99 44.5 Rl
4144 LR AT 32 0 32 16.8 7 -l
4145 [EECEIEREIFAR aq aq 0 El EREI2k
4146 o A T 19 0 19 6.8 S
4147 ERERIET] 48 50 98 45.8 Rl
4148 fawaT F9T 49 50 99 48.1 Exiki]
4149 o FAT FotaTa 49 50 99 58.5 EMII
4150 A TTOTT 48 50 98 56.4 Exiki]
4151 FeET FATE FH 49 50 99 50.5 Rl
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4152 Trfed FAT aq aq 0 1 ELRl2 0]
4153 & FHT BT 48 50 98 61.5 Exikil
4154 AqTHE T e 26 0 26 18.5 = -l
4155 T Feg ATHeT 44 50 94 52.2 Rl
4156 ST AT TS 44 50 94 49.8 Enibli
4157 g FA 47 10 57 22.0 T -l
4158 TTST9T FHTT 49 50 99 61.8 Exikil
4159 T T 26 50 76 48.1 Exikil
4160 qfeE wam= aq aq 0 1 ELRl2 0]
4161 At == 36 50 86 51.6 Exikil
4162 TR FHTT aq aq 0 El EREI2
4163 51T FHATT aq aq 0 El EREI2
4164 7 AT 48 12 60 22.3 T -l
4165 TIST FHIT AT 48 0 48 17.0 T -l
4166 [EERNEOREES 49 12 61 22.3 = -l
4167 o A =T 49 0 49 12.2 = -l
4168 TS FHTT AT 44 17 61 23.4 = -l
4169 A FAT 49 20 69 23.9 T -l
4170 TARTET FHTE AT 49 34 83 26.8 Exikil
4171 TfSrar FATT g aq aq 0 El EREI2k
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4172 AT gt aq aq 0 1 ELRl2 0]
4173 s it aq aq 0 El EREI2
4174 gfewar = T T 0 & ELRIE G
4175 qRTEHT T 48 0 48 17.3 = -l
4176 orf~F TS AT 46 1 47 20.2 T -l
4177 STforT Yo T3q 49 35 84 26.9 Exiki]
4178 o I ATRTET 45 0 45 5.6 = -l
4179 graTforT wify 44 0 44 18.9 T -l
4180 o I queTr 45 31 76 26.1 Rl
4181 Ffaq FHTE T 42 14 56 22.8 T -l
4182 fareTer FHTE AT 42 14 56 22.8 T -l
4183 S o1 A7 49 50 99 38.8 Exiki]
4184 AT T T22T 47 41 88 28.2 Exiki]
4185 fererer e famm 49 50 99 40.7 Exiki]
4186 HET FATL TLTT 49 50 99 36.8 Exiki]
4187 GIECIEIFA] 49 25 74 25.0 ik
4188 g g 49 9 58 21.7 T -l
4189 IS aq aq 0 El EREI2k
4190 STHATSIT ATaT aq aq 0 El EREI2k
4191 LRSI IR Gl 47 50 97 37.0 Rl
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4192 T TFATST 3w T T 0 & ELRIE G
4193 AT AT 48 50 98 47.5 ikl
4194 g AAT e e 0 7 ERRISE]
4195 I A 49 35 84 27.0 ikl
4196 afer faeame aq aq 0 1 ELRl2 0]
4197 TSTET FHTT 49 50 99 60.5 Rl
4198 AT 9T aq aq 0 El EREI2
4199 yfave @it & & 0 T ELRIK
4200 farawTer wEer aq aq 0 1 ELRl2 0]
4201 qfer T aq aq 0 El EREI2
4202 FOT |15 aq aq 0 1 ELRl2 0]
4203 EIEGIRIRE aq aq 0 E) ERRIE)
4204 FTEHI T TZ 48 49 97 29.8 Rl
4205 qEETHT I aq aq 0 1 ERRI2 0]
4206 ST ATRAT AT 49 1 50 20.1 = -l
4207 GEICE ) 41 0 41 125 T -l
4208 q9 = aq aq 0 El EREI2k
4209 qiHa T aq aq 0 El EREI2k
4210 AT wEfa aq aq 0 1 ERRI2 0]
4211 GUEERAL 19 0 19 10.8 AT
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4212 ST T aq aq 0 1 ELRl2 0]
4213 EEL-R LI 49 5 54 20.9 & -l
4214 A T e e 0 7 ERRISE]
4215 HATRTETAT aTear 47 46 93 29.2 Rl
4216 e ofier 45 50 95 32.7 Rl
4217 Ffear 7 aq aq 0 1 ELRl2 0]
4218 TATT HEA aq aq 0 1 ELRl2 0]
4219 RIEERIC 45 38 83 27.5 Rl
4220 qATT F75 HSA 45 38 83 27.5 Exikil
4221 o gt 45 45 90 28.9 Rl
4222 2T FA 44 49 93 29.7 Rl
4223 ST FATR 48 50 98 39.7 Rl
4224 Z9T T 49 50 99 33.8 Rl
4225 TR FHTT 50 50 100 48.7 Rl
4226 Frad FHIT TZIT 48 0 48 13.0 T -l
4227 T =T T T 0 & ELRIK
4228 TR Feg TIT 48 29 77 25.7 ik
4229 ey greTs 47 0 47 18.8 T -l
4230 GRIECEIRCIE 46 0 46 18.0 = -l
4231 e TS 49 0 49 19.2 = -l
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4232 TATET FTohgT 49 0 49 17.9 T -l
4233 FAT THTE T 48 33 81 26.6 ikl
4234 ATEAT ATTF T T 0 & ELRIE G
4235 o= AT 7™ 48 7 55 21.3 = -l
4236 IS AT AL 48 22 70 24.3 = -l
4237 et g 44 0 44 8.0 T -l
4238 srferar si=m 48 12 60 22.3 = -l
4239 FATHT qT aq aq 0 El EREI2
4240 G EIRE 48 0 48 19.8 T -l
4241 SIESIIG GERCIE 48 0 48 10.7 = -l
4242 qiEaT Frear aq aq 0 El EREI2
4243 TAYTOTRT AT 49 50 99 31.3 ikl
4244 HeAr= diferd a a 0 el EREIERn]
4245 AT FH 42T 49 50 99 37.2 Rl
4246 FEUAT AT T T 0 & ELRIK
4247 Tt ATg 48 1 49 20.1 T -l
4248 AT FATT AT 1 1 0 El AR
4249 THATT FHTT T T 0 & ELRIEK
4250 IUE A aq aq 0 El EREI2k
4251 AT 3o aq aq 0 El EREI2k
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4252 ECIREFS 50 0 50 19.5 = -l
4253 Iqa fowe T aq aq 0 El EREI2
4254 AT FHX TATS aq aq 0 El EREI2
4255 ST FHIT TG0 aq aq 0 El EREI2
4256 Hramrw fig atear aq aq 0 aq ERRIE)
4257 FHAL FHTT aq aq 0 El EREI2
4258 EACERE] 47 48 95 29.5 Enikl
4259 AT FATL aq aq 0 El EREI2
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